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1 AR x2 +x+1=0%, @ x99 4+ x200 4 201 4. 99 Wifse $={234,5679 8 S @

1 A 41 27 3-3FE el fim damd (Re% aft o=
i 1) =718 s gt &, St 500 @ B E?
(@) -1
(@ 30
(b) O
(b) 49
(c) 1
() 90
d
gl (d 147

2. AR x, y, z IR A (GP) F &, @ F=fefaa

5. - on ¥ 2

§ 4 A /A2 A/ “::n;j; EARLIRDY B v
1. In(3x), In(3y), In(32) TR ¥ (AP) :

LR (@ 10" p
2. xyz+In(x), xyz+In(y), xyz+In(z) ®

e A1 (HP) § § o Ll
= iy e e w1 wEe W Ed@ W g ok e

d n

(@) Fad 1 gl
&) e 6. fiuma el
(c) 1 3R 23

3x2% - (k2 +5k)x+3k2 -5k =0

(d) 371 H 2 ¥ gm i e Righa fag a9 Ity

et %) Freferfian § @ A-m v 27

3. AR logy2, log;pR* -1, logol* +3) (@ O0<k<>
TR A (AP) H &, 0 x Forus suer ®? 3
(@ 0 (b) ¥ 0<k <§
(b) 1
(c) §<k<E
(c) logy S S 3
(d) logs2 (d) k% T HE A TE R
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1. Fx2+x+1= 0, then what is the value 4, Let S={234,5679. How many
different 3-digit numbers (with all digits

of x199 4200 4 2015 different) from S can be made which
are less than 5007

(@ -1 (@ 30

(b) © G

© 1 (c) 90

.3 (@ 147

5. If p=(1111-.-up to ndigits), then what is
2. If x, y, z are in GP, then which of the the value of 9p2 +p?
following is/are correct?

. (@) 10"p
1. In(3x), In(3y), In(32) are in AP
2. xyz+In(x), xyz+In(y), xyz+In(2) (b) 2p-10"
are in HP

() 10"p-1
Select the correct answer using the
code given below. (d) 10" p+1
(@) 1 only 6. The quadratic equation
(b) 2 only

3x2 - (k? +5k)x+3k? -5k =0
(c) Both 1 and 2

; has real roots of equal magnitude and
(P vy -1 nerd opposite sign. Which one of the
following is correct?

5 Briz x
3. If logw 2, 10310(2 1), 10810(2 +3) are (a) 0<k <§
in AP, then what is x equal to? 3

(@) O (b) 0<k<§only
(b) 1
3 5
(c) log,5 LBl
(d) logs?2 (d) No such value of k exists
DFGT-D-TMS/1A 3 [ P.T.O.
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7. AR a, =n(n!) &, M q +a, +az +-+ay

o ae 27
(@ 10!1-1
(b) 111+1
(c) 101+1

{d 111-1

8. R p I g, FM x2+px+q=0 *

AR 7F ¥, @ ¢ % Fra 991 7R @ TR
® :

(@) A
(b) TH
€ A
(@ =

. AR

>
I

L T~

= 5 0

Q &R

§

3d+5g 4a+7g 6g
3e+5h 4b+7h 6h
3f+5i 4c+7i 6i

foraes aU=r B7

(@ A
(b) 7A
(c) 72
(d) -72A

DFGT-D-TMS/1A

10. 3fe

1 ¥ 1
b+c¢ c+a a+b

s 44 (HP) # 8, @ Fr=fofles # @

FH-T1/HA-3 T /87

1. a, b, c HIER ¥ (AP) § &

2. (b+9?, (c+a)?, (a+b? IR A
(GP) ¥ &

99 fa Ty 2 1 wEm W wd W gl
(@ Faa 1

(b) ¥ 2

(c) 1 3R 23

(d @ 1IMAH 2

? TeaeNy @
AIOO._ ASO _2A25
forass srmem 27
(@ -2I
(b) -1
(¢) 2I
@ I

el 1 doaHeh TR R
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7. If a, =n(n!), then what is 10. If

a1+(12 +aa+"'+a10 1 1 1
b+c c+a a+b

equal to?

@ 101-1 z'are in HP, then which of the following
is/are correct?

(b) 111+1
1. ‘a; by ave in-AP

¢ 101+1

@ 111-1 2. (b+92, (c+a)?, (a+b)? are in GP
Select the correct answer using the

8. If p and q are the non-zero roots of code given below.

the equation x2+ px+q=0, then how

many possible values can g have? (@) 1 only

(@) Nil (b) 2 only

(b) One () Both 1 and 2

R (d) Neither 1 nor 2

(d) Three

» ) g8 i i
9 -If
a b.c A= |:[1) c;:l
A=ld ewf
g1 =

where a € N, then what is
then what is

AIOO _ASO —2A25
3d+5g 4a+7g 6g

3e+5h 4b+7h 6h

equal to?
3f+5i 4c+Ti 6i
equal to? -
~I
i A (b)
() 724 @ I
(d) -T2A where [ is the identity matrix.
DFGT-D-TMS/1A 5 L PTiQ.
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12. 7R 16. afe TfiF ax? + bx +c= 0 F e sind 30N

a -b a-b-c cos &, @ fiafafga # @ F=-a1 wd 27
-a b -a+b-c|-kabc=0
-a -b -a-b+c (a) a? +b?% -2ac=0
(@#z0,b#0,c#0)
%,?ﬁkﬂmﬂ!ﬂ%? (b) -~a% +b? +2ac=0
(@ -4
(b) -2
{c)) 2 (c) a?-b2 +2ac=0
@ 4
7 (d) a®+b?+2ac=0
13. Y i formd wer &, Wl i = /o1 ¥7
n=1
(@) -1
®) 1 17. 3R C(n, 4), C(n, 5) 3R C(n, 6) AW A
; (AP) # &, @ n &1 W= F1R7
e}z
(@ -i @ 7
14. AR z=x+iy 8, &l i=+/~1 B, @ @i ) 8
2z +|2? +4(z+2)-48=0 T Frefm
a7 ) 9
(@) W& @
(d 10
(b) TEAT
(c 3
(d) W& Y@ FgH 18. ¥ad@ ‘LUCKNOW ¥ % 31l &1 W &
(f1 el ) @ =g 4-AW T
15. faffaa & & F=-w1 2a+2Va? +b2 & foraa wree (1ol o1 foede) sremg < w7
T 2, el @, be R 7
(@ Ja+ib+Ja—ib s
(b) Ja+ib-+a-ib {b} 200
(c) 2a+ib
(d) 2a-ib (e 150
Wl i = V=121 (d@ 120
DFGT-D-TMS/1A 6
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12. If 16. If sin® and cos® are the roots of the
equation ax? + bx+c=0, then which
one of the following is correct?

a -b a-b-c
-a b -a+b-c|-kabc=0

s . e i (a) a? +b% -2ac=0

(@20, b#0,c#0)
then what is the value of k? &ty
() -a“ +b“ +2ac=0
(@ -4
(b) -2
© 2 (c) a?-b? +2ac=0
(@ 4
(d a®+b?+2ac=0
8n+7
13. Whatis Y i" equal to, where i= J-1?
n=1
(@) -1 :
17. If C(n,4), C(n, 5) and C(n, 6) are in AP,
(b) 1 then what is the value of n?
(c) i
!
@ -i o4
: ; (b) 8
14. Ifz = x + iy, where i = J/-1, then what does
the equation zZ +|2|°+4(z+2)-48=0 ¢ 9
represent?
. . (@ 10
(a) Straight line
(b) Parabola
(c) Circle 18. How many 4-letter words (with or
(d) Pair of straight lines without meaning) containing two
vowels can be constructed using only
15. Which one of the following is a square therdle{tggl{gn(r)i$??ut repetition) of the
root of 2a +2 a2+b2,whcrea,be R? e
(@ Ja+ib++Ja-1ib (a) 240
(b) Ja+ib-+a-ib (b) 200
(c) 2a+ib
(@) 2a-ib o
where i = +/-1. (d 120
DFGT-D-TMS/1A 7 [P.T.O.
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19. WA i wF g9 W 20 fia fig I s
¥ fom 81 Frafafea # § @9-w1/29-8 $99

wd B/87
1. 7 ¥ ol Q) fagadl ) siream @
T aTelt T W@t 6 ge@n 380 )

2. 7 ¥ 5l 9 fagadt # shew =g
ST HEA aTa Pt < dE 1140 R)

T fa g g2 w1 @ W Ed I gh)
(@ *ad 1

(b) Fa 2

(c) 13 23E

(d Fd@13mAE2

a2 b2 21
20. [B—2-+;2—+2] ¥F faww & e w2 &, wwl

a#0,b#0%87?
(@ 21

(b) 22
©) 42

(d) 43

DFGT-D-TMS/1A

21. k% & ol ¥ o wifie e
2k%2x+3y-1=0, 7x-2y+3=0,
6kx+y+1=0
4 27
3+4/11
10

21+4/161
10

3+J7
10

4+J11
1

(a)

(b)

(c)

(d)

=]

22. IR A F Waam #i

[_2 1]
SEL
2 2

TR wqa T ) A foreds s 27

@[5 3]

&y
ifl 2
@[5 3]

23. e f(x) =In2+sin? x) F AEdHEA =N
B?

(a)

N3

(b)
(c) 2n
(d) 3n

=
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19. Suppose 20 distinct points are placed 21. For what values of k is the system of
randomly on a circle. Which of the equations

following statements is/are correct? 2
2k“x+3y-1=0, 7x-2y+3=0,

1. The number of straight lines that 6kx+y+1=0
can be drawn by joining any two of

these points is 380. consistent?
3+4/11
2. The number of triangles that can be (@) THD.
drawn by joining any three of these
points is 1140. (b) 21+4/161
10
Select the correct answer using the 3+7
code given below. (c) 10
4+411
(d) o
(@ 1 only 10
(b) 2 only 22. The inverse of a matrix A is given by
-2 1
() Both 1 and 2 [ ; _%]

(d) Neither 1 nor 2 What is A equal to?

T2
@ 13 4
20. How many terms are there in the g
expansion of 52
A
b=2
21
a2, b3 9 [3 —4]
—3+—-5+2
b a -1 2
(@ [3 4]

where a# 0, b# 0?

23. What is the period of the function
flx)=1In2+sin? x)?

@ 21
mn
() 22 ™2
42 a1
C;
(e (c) 2mn
(d 43 (d 3n

DFGT-D-TMS/1A 9 [ P.T.O.
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24. 3R sin(A+B)=1 3 2sin(A-B)=1 %, 28. A M 0<x, yz< 1% fw
HBT0<AB<-;5%,H‘1tanA:tanB%a%

sin"! x +sin~! y+sinlz= 2N
ELCi
@ 1:2 81 x1000 4 1001 , ;1002 z gy 7 B7
(b) 2:1 j (@ 0
(¢ 1:3 (b) 1
(@ 3:1 © 3
25. iowﬁmﬁwwmmﬁm| (@ 6
31 ¥ fagadt it frema R By @ =
THd 8, et B ot o, sy A g F
i 29, m?ﬁﬁﬂl‘ﬂ‘ﬂ.x, ye R fog
smx+smy=cosx+cosy
(a) 25
(b) 50 %|mn(§+g)%«=}:m3?
) 75
(@ 100 = SR
(b) 2
26. FFU x* -10x? +9=0 F Wfi awafH © 2
Tt ® fEr fifv) g6t % g wm -
A T 27 (d) 22
(@) 4
b 6 30. HF ifsg
8 209 z
(c) A-[_z 0] AR (mI+na)? =4
(@ 10
2, & m, n YIS IRAfaE TEATd & qn I
27. (1+x)" % fowm w fam Aift) @@ it TeETF R B (m + n) Fre swan 27
p, g, r ¥R s FAW: UEE, @A, ral iR
(n+ AT 931 % TN B 1 (ps + qr) FeeE auar (@). 0
??
®) 2
(@ 1+2n 2
(b) 1+2n? © 1
(¢) 1+n? 3
(d) 1+4n @ 3
DFGT-D-TMS/1A 10
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24. If sin(A+B)=1 and 2sin(A-B)=1], 28. Let
where 0< A B< -:— then what is

sin~! x +sin”! in Py
y+sin ' z=
tan A: tan B equal to? 2
(@ 1:2 for 0< x, y z< 1 What is the value of
®) 2:1 x1000 , 1001 | ;10025
o) 1:3
(d 3:1 (@ O
(b) 1
25. Consider a regular polygon with 10 sides. 3
What is the number of triangles that (c)
can be formed by joining the vertices (d 6

which have no common side with any of

the sides of the polygon?
29, Let sinx+siny=cosx+cosy for all

(@) 25 s x 'y
x, ye R. What is tan| —+= equal to?
(b) 50 2 2
(c) 75 @)1
(d 100 (b) 2
; : (c) 2
26. Consider all the real roots of the equation
x* -10x%2 +9=0. What is the sum of (@ 242
the absolute values of the roots?
(@) 4 30. Let
) 6 0 2
A=[ ] and (ml+nA)? =A
c) 8 -2 0
fel). 10 where m, n are positive real numbers
and I is the identity matrix. What is
27. Consider the expansion of (1+x)". Let (m +n) equal to?
p, g r and s be the coefficients of
first, second, nth and (n+lth terms (@ O
respectively. What is (ps +gr) equal to? y
(@ 1+2n ® 3
2
(b) 1+2n © 1
() 1+n? 3
@ =
(d 1+4n @ 2
DFGT-D-TMS/1A 11 [ P10,
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31. cot[sin'l§+cot'lg}$lﬁﬂa'm3? 34. wiHw x3-8=0 % Iﬁ'ﬁ % Hig A

Frafafiga wut w famm it .
(a) % 1. 7d I g
2. W, T B 9 99 w e §
(b) 376 I FA § A D/ @R/
3 (@ ¥a€ 1
16
(c) . (b) Fad 2
(c) 1 322
@ 7
6 (d A@M1dad2

35. WA ST @fiEw secx cosecx = p F T

32. 7 i 4sin? x =3 ?, S&f O<x<n R TR aﬁp@mmﬁaﬂwﬁlp

tanSxﬁRﬁﬁW%? zﬂmmwm?
(@) -2 1
(@ -
(b) -1 >
(c) 0 (b) 1
@ 1 i

(d) AH TH 1 AfGied TE B

33. #F i p, g 3R 3 wF TR AR (AP) F
SHATI: YEel, deR1 3R uieal 9g 81 9E efifd 3 % g n
sl 3t PR i A9 2 6. 6 Tq # ﬁﬂl, Ei 0<B<§ %,

1 U T 37 sin® + sinBcos 6 Hfthaw T WW Htar 27
(@ 1 @ 7
. () %
(c) g () 45
@ 3 @ %
DFGT-D-TMS/1A 12
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31. What is the value of the following? 34. Consider the following statements in
respect of the roots of the equation

cot[sin‘1 %+cot'1 g] x3-8=0:
1. The roots are non-collinear.
(@ 6 2. The roots lie on a circle of unit
17 radius.
; Which of the above statements is/are
(b) — correct?
16
(a) 1 only
RE -
d < (b) 2 only
(¢ Both 1 and 2
17
(d) -y (d) Neither 1 nor 2

35. Let the equation secx-cosecx = p have

32. Let 4sin? x =3, where 0<x<n What a solution, where p is a positive real
is tan3x equal to? number. What should be the smallest
value of p?
(a) 2 1
(@) -
(b) -1 2
() O (b) 1
(d 1 (c 2

(d) Minimum does not exist
33. Let p, g and 3 be respectively the first,
third and fifth terms of an AP. Let d be

n
the common difference. If the product 36. For what value of 6, where 0<8< >
(pqg) is minimum, then what is the value does sin® +sin®cos® attain maximum
of d? axim
value?
(@) 1 n
a -—
(a) 2
3
{b) & T
8 i
(b) 3
9
& = L
8 €@ 3
9 n
d) — d) —
(d) 3 (d) G
DFGT-D-TMS/1A 13 P TO.
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37. wg=l % W # ffafas wwt w faEw 39. @uyl 3R werl & wed # fiafafad wet w

1. WY=dl % wEAE W aften deaer 2| 1. wfl g6y, %o § AfF wft wom, deEy
T 2
2. 2 wy=dl ¥ witem
1 a4 3 WW@%W 2 AWB%#*@WWAXB
A 1 6= B
3 wge W Aw R wge F 3. AR N dE Fd
: TH AxA #
TR B, N A TY=T v = Sz 3
I Fol B A FR-A @ IR ol § A P W@ &
(@) Faa 132
(@) Fad 1 3R 2 () ¥ 2 93
(b) ¥Fae 2 3R 3 ) Ay Sy
(d 1,23r3
(c) Faed 133
40. 3R log,;21og, 10 +log;((10%) =2 }, A x
@ 1,233 F AR F R
(@) O
() 1
38. f wg=w X, Y 3R z W famm $Hiftm, fet (c) log, 10
F: 6, 5 3R 4 Fga §1 A @it 15 g (d) logs2
fim &1 wm &g S=(x-v)uz %1 s %
T fua Iwag=a #7
41. 7 i ABC uF fayw ®1 3R
(@ 255 cos2A +cos2B+cos2C = -1
2, @ Prefifea 3 4 F-m v 27
(b) 256 (a) sinAsinBsinC=0
(b) sinAsinBcosC=0
(c) 1023
(c) cosAsinBsinC=0
(d 1024 (d) cosAcosBcosC=0
DFGT-D-TMS/1A 14

Downloaded from www.cclchapter.com



37. Consider the following statements in 39. Consider the following statements in

respect of sets : respect of relations and functions :
1. The union over intersection of sets 1. All relations are functions but all
is distributive. functions are not relations.

2. A relation from A to B is a subset

2. The complement of union of two of Cartesian product Ax B.

sets is equal to intersection of their
complements. 3. A relation in A is a subset of
Cartesian product Ax A.
3. If the difference of two sets is
equal to empty set, then the two
sets must be equal.

Which of the above statements are
correct?

(a) 1 and 2 only

Which of the above statements are (bp) 2 and 3 only
correct?
(¢) 1 and 3 only

(d 1, 2 and 3
(a) 1 and 2 only

(b)) 2 and 3 only 40. If log,o2log, 10+1og;((10%) =2, then
what is the value of x?

(C) 1 and 3 Only {a) 0

(d 1,2 and 3 M) 1
(c) log, 10

38. Consider three sets X, Y and Z having
6, 5 and 4 elements respectively. All
these 15 elements are distinct. Let
S=(X-Y)uZ. How many proper
subsets does S have?

41. Let ABC be a triangle. If

cos2A +cos2B+cos2C= -1

then which one of the following is

(a) 255 correct?
(b) 256 (a) sinAsinBsinC=0
(b) sinAsinBcosC=0
% 0% (c) cosAsinBsinC=0
(d) 1024 (d) cosAcosBcosC=0
DFGT-D-TMS/1A 15 FP-T-Ox
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42. wRi (feefifiz) 46. 3% 3, 5, 7, 9 W =R i) = iFt A

cosC tanA 0 5-3F1 W ot et @ wedt
sinB 0 -tanA Tl 1 = s # A v 3w A
0 sinB cosC
1 qA w37 _ (@) 240
(@ -1
180
) 0 (b)
(c) 2tanAsin BsinC () 120
. (d) -2tanAsin BsinC
43. WM W §g= A § v 250 gt U@ (d) 60
St 3 % e § oIk wge B H wge 200 w9
QUi &1 AU B Y frad sragg §7
(@) 324 47. W fra fm s femm £, Red wht s
(b) 364 yfafeat (1, 2) @ < € &7
(c) 384 :
(d) 400 @ 16
44. 7F <fifse s, foFeft TR 3 (AP) ¥ wEet &
W ¥ dea W oawta 3, @ 530 ®) 24
20 ~Sio
Tores s 27 (c) 32
fa) 1
®) 2 (d) 48
(c) 3
(d 4
45. qﬁq:ﬂw 48.ﬂﬁi=«/:i3,?hﬁﬁlnez %mfhzn%‘:
4x? —(5k +1)x + 5k = 0 e 7 87
%l § uF H R R, @ FrefoRas § @
FH-U1 k F1 T GG T 27 o ]
(@) -3 <
® -1 (b)
1
i - (c) =R
3
% (d) 3
DFGT-D-TMS/1A 16
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42. What is the value of the following 46. Consider the digits 3, 5, 7, 9. What is

determinant? the number of 5-digit numbers formed
by these digits in which each of these
four digits appears?

cosC tanA 0

sin B 0 —tanA
0 sinB cosC
(a) 240
(@ -1
) 0 (b) 180
(c) 2tanAsinBsinC

43. Suppose set A consists of first 250

natural numbers that are multiples of (d) 60

3 and set B consists of first 200 even

natural numbers. How many elements

does AU B have?

(a) 324 47. How many distinct matrices exist with
all four entries taken from (1, 2}?

(b) 364
(c) 384
(d) 400 (@) 38
44. Let S, denote the sum of first k terms of (b) 24
an AP. What is —%"0— equal to?
0~ *10 (c) 32
(@) 1
(b) 2 (d) 48
e 3
(@ 4
45. If the roots of the equation 48. If i = /-1, then how many values does

—2n .
4x2 —(5k+1)x+5k =0 i have for different ne Z?

differ by unity, then which one of the

following is a possible value of k? (@) One
(@ -3
(b) -1 (b) Two
‘4
© E (c) Four
3
(@ -= :
5 (d) Infinite
DFGT-D-TMS/1A 17 [ P.T.O.
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49. If2 e : M 3 A 21 (02) wei ¥ R RrfiRad w

foram $ifs)
x:...a_’ y:_b_' Z= e
e SO LE T 79 g (5, - 8), (-2 9) 3 (2, 1) D B o B
!, o :
391 1 —ylmamwn 51. 39 % I3 & fdwis 71 §7
i b Tle |
(@ (-2 -50)
(@ 0
1
i (b) (-50, -20)
(c) abe
(d) ab+ bc+ca (c) (-24, -58)
50. 3Tgg (d) (-58 -24)
e
A=[111
50 Vg
% gay § frafafas w few Hifv 52. 3R 39  fw R}, @ Fefafas #  ¥9-
1. A% sfem 5 sfe 78 2 R
2. AS=A
8.7 i A9 (a) r<10
IE § A FH-Y w9 &7
(b) 10<r<30
(@) a1 3R 2
(b) Fa@ 2 3R 3
() 30<r<60
(c) Fad 133
(d 1,233 (d) r>60
DFGT-D-TMS/1A 18
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49, If Direction : Consider the following for the next
two (02) items that follow.

A circle is passing through the points (5 - 8),
(-2 9) and (2 1)

51. What are the coordinates of the centre
of the circle? -

Y o= X

} i Lo Bl

j et NN (@) (-2 —-50)
e (b) (-50,-20)
(b) 1
(c) abc (c) (-24, - 58)
(d) ab+bc+ca

(d) (-58 -24)

50. Consider the following in respect of the
matrix

b

I
et
et
et

52. If r is the radius of the circle, then

1. Inverse of A does not exist which one of the following is correct?

2. A%=A
3 3A=A2 (a) r<10

Which of the above are correct?
(b)) 10<r<30
(a) 1 and 2 only

() 2 and 3 only (c) 30<r<60

(¢ 1 and 3 only

(d 1,2 and 3 (d) r>60

DFGT-D-TMS/1A 19 ' [ P.T.O.
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e : o o 91 21 (02) weieH ¥ R Frfrfaa w
fermm Hifs

T wHarg By % @ ¥fid (0, 0) ¥R (2, 2) ¥

53. Fmfafan FuEt w fmr Fift

1. d®t ¥ ® ww-¥-ww w P
g 2

2. &% o R

I FoAl F A BT/ AR T /R
(@) ¥4 1

(b) Fad 2

(c) 1 323t

(d ad@13Rad2

54. et ¥ & et o oiew =1 27
(@) O
(b) J3

(c) 242

(d) 2J3

DFGT-D-TMS/1A

20

e : o o a1t 2 02) weiE ¥ R Arerfifa w
fomm Hifsm

UF §HIR IS ABCD % dF wwmma vl ¥ fidwis
A(L 3), B-12) 3R C(3 5 %
55. fasl BD %1 wrfiao 71 27

(@ 2x-3y+2=0

(b) 3x-2y+5=0

() 2x-3y+8=0

(d 3x-2y-5=0

56. THIR Ig 1 Sawe a1 27
(@) 1 5T
(b) gaﬁmé
(c) 2 g
(d) gaﬁwi
e : s o A @ 2 (02) wwE ¥ fore Frfifa
R fmm Hifvm)
& By ABC #t ywnsit AB, BC 3R ca ¥ wdiEm
F: x-2=0, y+1=07U x+2y—4 = 0 §|
57. ACW B e 1 wefigwo 51 27
(a)
(b)
(c)
(d)

58. e & wRdh=s % Fders @ §7
(@ (4,0)
(b) (2,1)
(¢ (0, 4)
@ (2,-1)

x-3y+1=0
x-3y+4=0
2x-y+4=0
2x-y-5=0
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Direction : Consider the following for the next
two (02) items that follow.

The two vertices of an equilateral triangle are
(0, 0) and (2, 2).

53. Consider the following statements :

1. The third vertex has at least one
irrational coordinate.

2. The area is irrational.

Which of the above statements is/are
correct?

(@ 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

54. The difference of coordinates of the third
vertex is

(@ O
(b) 3
(c) 2v2

(d) 2J3

DFGT-D-TMS/1A

21

Direction : Consider the following for the next
two (02) items that follow.

The coordinates of three consecutive vertices
of a parallelogram ABCD are A(} 3), B(-1 2)
and C(3, 5).
55. What is the equation of the diagonal BD?
(@ 2x-3y+2=0
() 3x-2y+5=0
(c) 2x-3y+8=0
(d 3x-2y-5=0

56. What is the area of the parallelogram?
(@) 1 square unit

(b) g square units

(c) 2 square units

(d) g square units

Direction : Consider the following for the next
two (02) items that follow.

The equations of the sides AB, BC and CA of
a triangle ABC are x-2=0, y+1=0 and
x +2y -4 = 0 respectively.

57. What is the equation of the altitude
through B on AC?
(a)
(b)
(c)
(d)

x-3y+1=0
x-3y+4=0
2x-y+4=0
2x-y-5=0
58. What are the coordinates of circumcentre
of the triangle?
(a) (4,0)
(b) (2,1)
(c) (0, 4)
@ (2,-1)

[P.T.O.
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ﬁiw:snﬁwﬁm@tﬁroz;miaﬁ%%nﬁm%ﬁqam
= Hiftng

mwﬂaqﬂﬁéa(ﬁzumtr)%a’rmﬁg
(-2, 4) 3R (-2, -4) &)

59. e (ded Yaen) % A s g F =w d 3
A gt ¥ sftman ey wEem @R
TEd 87
(@) T4 T
() A

c) =R

(d) 3=Fa

60. ¥ waTdl ¥ way § fAmfifed ot w Rer
'ﬁﬁﬁ"{: :

1. ¥} & waew q@ fag 0, 0) @
TSR B

2. ¥ ¥ waem # AW (Prw)
(-2, 0) ® fRm@ &)

IF FoA # A P/ AR-D w2/

(a) Faa 1

(b) *aa 2

c) 1 3R 23

(d ad1Rad2

DFGT-D-TMS/1A 22

61. wﬁgp(x,y,z)mﬁgw(@m)wm
mawﬁaﬁam%ﬁ;z=7%,?hﬁw
(erFg) T 27
(@) x-3&4 F FHIR TF 3@

(b) y-¥] F FAIR T 1@
(¢) 2z-3% F GUIE TF @

(d) xy-T€ ¥ THIR T FYqA

62. f=fafan wurt w fam 6t .

1. Jakg (FE) 4 @ W ¥ g
Teg-31guma & | £

2. Tt ffim Yo % fom 9r dve 2
Rg-Framet % =it # v wer, 39 T ¥
Reg-FrarE ¥ Frea % swm A

I Al A P-w/AA-D 2
(@ Fad 1

(b) e 2

(c) 1 3R 23

(d Jd13Rad2

63. xy-ad, fg (-1, 3 9) 3l 2 - 5 6) M e

T ErEe ) R wER Rl w27
(@) HERF T Y 2: 3% 359 |

(b) 3EREH TR 3: 2% g9 &

(c) WTEIG: 2: 3% g9 §

(d) =TEIE: 2: 1% g9 §
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Direction : Consider the following for the next
two (02) items that follow.

The two ends of the latus rectum of a parabola
are (-2 4) and (-2 -4).

59. What is the maximum number of
parabolas that can be drawn through
these two points as end points of
latus rectum?

(a) Only one

(b) Two

(c) Four

(d) Infinite

60. Consider the following statements in
respect of such parabolas :

1. One of the parabolas passes
through the origin (0, 0).

2. The focus of one of the parabolas
lies at (-2 0).

Which of the above statements is/are
correct?

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

DFGT-D-TMS/1A 23

61. The locus of a point P(x, y z) which

moves in such a way that z=7 is a
(a) line parallel to x-axis
(b) line parallel to y-axis
(c) line parallel to z-axis

(d) plane parallel to xy-plane

62. Consider the following statements :

1. A line in space can have infinitely
many direction ratios.

2. It is possible for certain line that
the sum of the squares of direction
cosines can be equal to sum of its
direction cosines.

Which of the above statements is/are
correct?

(a) 1 only
(b) 2 only
(¢ Both 1 and 2

(d) Neither 1 nor 2

63. The xy-plane divides the line segment

joining the points (-1, 3,4)and (2 - 5, 6)
(a) internally in the ratio 2:3
(b) internally in the ratio 3:2
(c) externally in the ratio 2:3

(d) externally in the ratio 2:1

[ P.T.O.
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64. fidve s1efl + wel =Y 9 7 B ¥ el B
we foret 27
(@ 4
(b) 6
(c) 8
(d) ¥d

65. ABCDEFGH W& 9 R, fs/a#1 snar ABCD
? w #4000, B2 0,
C(12 6,0) 3R G(12 6 4) ¥ ¥ aR AB
A AG & d19 F1 I o ¥; AC 3k AG H
’q’iﬁ'ﬂﬂﬂﬂmﬁi,iﬁcoam+cos2ﬁiﬁlm
87

40

49

_6_4_[

49

120

49

160
49

(@)
(b)
(c)

(d)

66. 7R T 2, b 3R ¢ W wF wRw ¥
Exg,zméa%lﬂf%a'aﬁtg%mzﬂ
aﬂwe%,?hﬁq%ﬁaaﬁﬁﬂm’n-mlm’n—ﬁ
e /R

1. dxb=sind2

2. d:bxd=0

A2 e Mg 2 w1 i w9
(@ %ad 1

(b) FaE 2

(c) 1 3R 22

(d Ad@ 1T 2

DFGT-D-TMS/1A

-

67. AR d+3b=3i-F sl 2d+5-i-2;

@A @ A b F A= B w0 27
(a)
(b)

ola ©

(c)

wla

(@)

Na

68. %R (d +b), d W = ¥ 3 b = whem, @

g™ #1 A R, N @d+b).b AR
Toras s 27

(@) ©
®) 1

) 8|a|?

(@) 8|b

69. WA M @, b I Rm W E R 3, b

am‘c’wa?huﬁiﬁqﬁﬁqaﬁﬁ?m—m/
FH- wE /E?

1. @xb)x?,d 3R b ¥ wg wvacha
2. @xb)x2, dxb WAt

2 e M g2 1 @i ww T Iw gh
(@ 9 1

(b) e 2

(c) 1 3R 23

(@ @ 1dMad2
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64. The number of spheres of radius r
touching the coordinate axes is

(@) 4
(b) 6
fc) 8
(d) infinite

65. ABCDEFGH is a cuboid with base ABCD.
Let A0, 0 0), B(12 0, 0), C(12 6 0) and
G(12 6, 4) be the vertices. If a is the
angle between AB and AG; P is the
angle between AC and AG, then what
is the value of cos20 +cos2f?

40
(a) E

o4

) o5

120

%o

160

@ 49

66. Let a, f; and ¢ be unit vectors such that
- Lo 4 .
dxb is perpendicular to ¢. If 8 is the

angle between d and g. then which of
the following is/are correct?

1. E'xg:sinﬁ_c?
2. 3-Bx3)=0

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

DFGT-D-TMS/1A

67. If G+3b=3-] and 2d+b=i-2},

then what is the angle between
dand b?

(@) O

(b)

oA

(c)

wla

(@)

(SHR |

68. If (ﬁ'+3) is perpendicular to d and

magnitude of E is twice that of 3,

- =
then what is the value of (4d+b)-b
equal to?

(@ O
() 1

© 8|d|?

(@ 8|b?

69. Let &', g and ¢ be three vectors such

that @, b and ¢ are coplanar. Which
of the following is/are correct?

—

1. (@xDb)x¢ is coplanar with @ and b
-b

2. (@xb)x¢ is perpendicular to @ x b

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2

[ P.T.O.
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70. 3Rk A 3R B % Rl afew wvw: (V2 - 17 - 73. "M AT f(x) T THR F1 TF 9598 Bor & 6

M I+W2+1)jE @ AB =1 aRwmo w1 37 £ o fl=x* 81 £(1) Frad aoar 37
(@ 22 (@ 0
) 343 (b) 1
(c) 2
(c) 2J3
(d) 4
(d 3J3

n n
74, 1im St P euk e B o> b> 1

n__w,an _bn

71. 3R &
y=(1+x)01+x%)(1+x*)(1+x8)(1+x'9) (@ -1
8,0 x=0® L o e b7 &%
¢ 1
ik (@) dm e A T R
@) 1
(c) 2 75. WH AR
(4.4 1+i, D<¢xk2
flx)= 2k
kx o 2 xe
72. If y=cosx-cos4x-cos8x %, A x=2w
b 2 AR lim fx) B A®E L, D kB AR
1Y s 47 i
y dx w1 27
(@ -1 (@) -2
(b) O (b) -1
(¢ 1 (c) O
(@ 3 (d 1
DFGT-D-TMS/1A 26
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70. If the position vectors of A and B

are (W2-1)i-j] and {i+W2+1)j
then what is the
magnitude of AB?

respectively,

(a) 2J2
(b) 3V2
(c) 2J3

(d 3J3

71, If

y=(1+0(1+x2)(1+x*) 1+ x®)(1+x'®)

dy

then what is e at x = 0 equal to?

(@ O
(b) 1
fer =2
@ 4

72. If y=cosx-cos4x-cos8x, then what is

(b) 0O
(e 1
@ 3

DFGT-D-TMS/1A

27

73. Let f(x) be a polynomial function such
that f o f(x) = x*. What is f’(]) equal to?

(a) O
(b) 1
(c) 2

@ 4

74. What is

L ok »b"
lim ———
n—ee aﬂ. _bn

where a > b > 1, equal to?

(@ -1
(b)) O
(c) 1

(d) Limit does not exist

75. Let
1+—£—, O<ix'c2
f)={ 2k
kx, 2<x<4

If lim2 f(x) exists, then what is the value
X=

of k?

(@) -2
(b) -1
) O

(i} =1

| P.T.O.
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76. f(x)=|x|-1% ¥y § f=fifeq FoF W 79. ¥pi Srafed Y@ W qRwifE wew

formm Hifore - Flx) = 1- sin x 1 90" 1 27
1. x=1W f(x) Gaqa 8|

2. x=0W f(x) HaFd B (@) 02

IFE FFE A A A1/ T R/E? (b) [0 2]

bk © 11

(b) FaA 2 o

() 1 323 b %

(d F@1IH 2
80. x=—% T yzcos‘l(cosx] # -

_I« :
77. wﬁf{x)_l—xl, x#0 %, 5l [-] weww ol (3=e) i v (i) w0 37
HOH F Tfaa FaT R, @A x=1W f(x) H -
<féqor < 7 27 P
(@ -1 (b) O
(b) O © 1
() 1
[d) x=1R f(x) F o dm 1 A (d) 2
T #
78. Fe 81. xz%ﬁﬁiﬂﬁf(x)=1+x2+x4$lm
§ w87
f(x)=sin(—2-), x#0
X x3 xS
¥ waw  freaferfa et w R B e A
1. 3R f£(0)=0%, dq T& x = 0 WHad 2|
2. -2 ww x% x
ﬂ?x—&qtﬂ?lﬁil (b) 3+5+C
IFE FE H ¥ BH-91/FH- T R/E?
(@ a4 1 (c) x2+—’;—4+%+c
(b) Faw 2
¢ 13K 23 8, TLR
() 2 Ea B O
(d AdM13MAA2 R |
DFGT-D-TMS/1A 28
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78. Consider the

76. Consider the following statements in

respect of f(x)=|x|-1:
1. f(x) is continuous at x = i
2. fl(x) is differentiable at x = 0.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

77. I fix)= Fl’ x # 0, where [-] denotes the

x|
greatest integer function, then what is
the right-hand limit of f(x) at x =17

(@) -1
(b) O
(¢ 1

(d) Right-hand limit of f(x) at x=1
does not exist

statements
function

following
in respect of the

flx) = sin(%} x 2005
X

1. Itis continuous at x = 0, if f(0) = 0.

2. It is continuous at x = -2—

I

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2

DFGT-D-TMS/1A

29

79. What is the range of the function

f(x)=1-sinx defined on entire real
line?

(@ (0,2
(b) 10,2
¢ 11
@ [-11

80. What is the slope of the tangent of

y=cos }(cosx) at x = —g ?

(@ -1
(b) O
{e) .1

@ 2

81. What is the integral of f(x) = 1+x2 + x4

with respect to x27?

S
+—+—+C
(@ x FEeNE
L
—+—+C
(b) 3
i) g et &
4 6
(T S AL
2 3

[ P.T.O.
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82. I (1, 2)ﬁqﬁ=lf{x)=x2+la?'ﬁﬁﬂﬁ 85. uf JJl—sin2xdx=Asinx+Bcosx+C

Frafeafaa wuAt @ famm $ifg ?, @l 0~:x<§ R, @ frafafes & @
1. eM %1 3Aftehad 9M 5 R F-T1 TE 27
2. %A I FAaq 7H 2 B
(@ A+B=0
P FYE H V-T2 9 B/E7
2 i () A+B-2=0
(b) a2 (¢ A+B+2=0
(c) 1 3 23E

(d A+B-1=0
(d F@M1IRIA 2

86. W wft didgdl ¥ awa wftww i FR

83. AR f(x), f() = f(@) F TUR A B, @ (FATR) = ¥ s xw, Fevs a9 &+
[ £ 700) cx s srrae 37 wa-ay &7
(a1
(@ -1
(b) 2
(b) 0
@3
(¢ 1
@ 4
d 2

87. W u¥l e & Ewa wdmw fi wa (faf)

84. J’jemrcosxldxmmg? 1 R, S A Pdwe e Y gom wguta &
el w7
(@) -1 (@ 1
(b) 0 (b) 2
e 1 ) 3
(@ 2 (d) 4
DFGT-D-TMS/1A 30
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82. Consider the following statements 85. If Iq‘ 1-sin2x dx = Asinx + Bcosx + C,
in respect of the function f(x)= x2 +1

m :
in the interval (1 2 : where 0 < x < 2 then wl‘uch one of the

1. The maximum value of the function following'is correct?

80D,
(a) A+B=0
2. The minimum value of the function
is 2.
(b) A+B-2=0
Which of the above statements is/are

correct?

g A+B+2=0
(a) 1 only
(b) 2 only {d A+B-1=0

(c) Both 1 and 2

(d) Neither 1 nor 2 ;
86. What is the order of the differential

equation of all ellipses whose axes are

83. If f(x) satisfies f(1) = f(4), then what is M s v

f f’(x) dx equal to? (@ 1
(b) 2

(a) -1

) © Qg

© 1 (@ 4

(d) 2

87. What is the degree of the differential
equation of all circles touching both the

84. What is E’ e (€08 %) gy equal to? coordinate axes in the first quadrant?
(@ -1 (@ 1
(b) O (b) 2
e 1 (c) 3
1 = (@ 4
DFGT-D-TMS/1A 31 [P.T.O.
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88. y= A- 2% srame whe 7 7
X
(@ xy,+y =0
(b) xy; +2y, =0

(c) xyz; -2y =0

(d) 2xy, +y; =0

89. J';‘ ln[tan —’25) dx e T 37

@ O

(b)

B | =

© 1

d 2

90. &g (0, 1) W % y=e* & TWui-@l, x-34

R el foerd 27

(@ (10
(b) (-1 0

¢ (0
@ (49

DFGT-D-TMS/1A

o1. Wf(x):x+%%¥i‘«iﬂﬁﬁnﬁ=rﬁ§am

R frem g
1. flx) & WHE Afysas 7@, @
T e 9 @ =1 R

2. flx) & WHE AfE@ 7 x=1 W
Bt 2

I oAl # A BH-A1/FA-R @ R/
(@) a4 1

(b) FaE 2

(c) 1 3R 23

(d Jd1AAE 2

92. 2 7% () fen o forelt 9w # sifera fog

S G 9 R a1 Afteman S
187

(@ 4 a3
(b) 6 TR
(c) 8= g
(d) 16 3 3HT%

03. | dX_ frad aua 27

.7(:(.1:2 +1])

2
(a) lln[ ; )+C
(b) ln[ ’2‘2 )+C
2
(c) g—ln[': ]+C

1 x2 +1
(d) Eln[ % }+C
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88. What is the differential equation of 91. Consider the following statements
y= A—E? in respect of the function f(x) = x+%:
x
1. The local maximum value of f(x) is
less than its local minimum value.
2. The local maximum value of f(x)

{a) xy2+y1 = ()

(b) xyp; +2y, =0 occurs at x = 1.

Which of the above statements is/are
() xy, -2y, =0 correct?

(a) 1 only
(d) 2xy; +y =0 (b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

89. What is I“ ]n(tani) dx equal to?
o 2 92. What is the maximum area of a rectangle
that can be inscribed in a circle of

(@ © radius 2 units?
(a) 4 square units
(b) 51 (b) 6 square units
(c) 8 square units
© 1 (d) 16 square units
r dx
93, What is | ————— equal to?
d 2 J X2 +1) &
@ L x? +C
90. Where does the tangent to the curve R v B
y=e* at the point (0, 1) meet x-axis?
2
(@ (10 (b) ln( - ]+C
x“+1
(b) (-1 0 26 4
() >ln|— ]+c
© @0 i el
s
1 x2 +1
£ (d) =In +C
(d}[?o] B \xzj
DFGT-D-TMS/1A 33 [P T
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94. e* F WU F ¢ I srawerst w1 27
(@ e**
(b) e*
(c) e e*

(d) ee*

95. fru foufa # f)=x3+x% +kx w1 H

WA = 9H T8 am?
(@ 4k <1

(b) 3k>1
(e). -3k <1

(d 3k<1

96. AR f(x)=2* &, A [[°LX) g form

2 flx)
27

(a) 41n2
(b) In4
{c) InS

(d) 8In2

97. AR [0 f) dx =k 2, @ [01f (91 dx

(@ kB2
(b) k¥=IR
(c) k¥ BRI kF AR B
(d) k&S A kF TR R

DFGT-D-TMS/1A
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98. AR WEH f(x)=x2 -kx, IFATA (L o) F

HEd: aduE R, @ Fefafas § @ ¥9-m
d 27

(@) k<2
(b) 2<k<3
() 3<k<4

(d) k>4

99, y=[x], &l [-] HEwH Ui e B, x-314 Ud

@it x =-1.5 3R x = —1.8 gAT WREg 43
1 AIHA 91 BM?

(@) 0-3 & &1
(b) 04 = 1§
(¢ 06 =8
(d) 0-8 & gH1g

100. (1, 1) W 9 x2 = y i WY@ x-3g

g T % |19 6 =i Fardt R Fefefaa
T J F9-91 98 87

n
(a) 9<E

(b) g<9<£—

b1 n
c) —<B<=
(© 4 3

biA n
d —<6<=
()3< 5
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94. What is the derivative of e® with 08. If the function f(x)=x2%-kx is

respect to e*? monotonically increasing in the interval
(1, =), then which one of the following is

(@) e* correct?
(a) k<2

(b) e*
(b) 2<k<3

atop
ok b ) 3<k<4
(d) ee* (d k>4

95. What is the condition that

flx)=x3+ x2+kx has no local 99, What is the area bounded by y=[x],

extremum? where [-] is the greatest integer function,
the x-axis and the lines x =-1-5 and

(a) 4k <1 » R

(b) 3k>1 - (@) 0-3 square unit

(c) 3k<1 (b) 0-4 square unit

(d 3k<1

(¢) 0-6 square unit

96. If f(x)=2% then what is J:O_;'((;C)]dx (d) 0-8 square unit

equal to?
(a) 41n2

100. The tangent to the curve x? = yat (L]

makes an angle 6 with the positive
(b) 1n4 direction of x-axis. Which one of the
following is correct?

(c) InS i
(@ B<=
(d) 8In2 6
n n
b : (b) =<B<=
o7. 1f [ fx) dx = k, then [, (x)|dx is sl i
(a) less than k
(c) —<B<=
(b) greater than k
(c) less than or equal to k i %
(d —<6<—
(d) greater than or equal to k 2
DFGT-D-TMS/1A 35 [P T.0.

Downloaded from www.cclchapter.com



101. 3 ¥gga (32) E ik F ¥ oy frafafea
aiaﬁmﬁanﬁﬁt{:

1. P(EnF) 2 PE)+PF)-1
2. P(EUFR) =P(E)+PF) +PENF
3. P(EUFR) < P(E)+P(F)

I et ¥ BH-a1/A-Q e B/E?
(@) Fad 1

(b) ¥ 3

() Faa 1 3R 3

(d 1,23R3

102. IR P(A|B)< P(A) ?, @ fr=fafas § @
-1 FE 27

(@) P(B|A) < P(B)
(b) P(B|A)> P(B)
(c) P(B|A) = P(B)

(d) P(B|A)> P(A)

103. v =17 W3 I W9 A7 F w9 § Iuerey 2,
A Feafafes § 4 AR-@ ofaffa 6§ a2
it faaadia oin g1 A9 37

(@) e (&)

(b) WA e
(c) TS femem
(d) =gde foreem

DFGT-D-TMS/1A
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104. I 3™ A, B 3R C % & A R s 2y

TH H WA ¥ A T A H Wi

m:%,gaq‘np%wﬁmﬁ'ﬂ%rﬁ

mﬁm%%,%ﬁpwmwﬁ?

2
(a) g

(b)

wiN

(c)

W=

(@)

A=

105. U% e B9 ¥, U sga 39% 0 Qe T

60 31 & 8 AR B& (B:) ARG B| 3@ 914 4
1 Wi & 6 9% g @ef 1 R g &
9 @l (B:) 7 °R?

2
(a) 3

o

o S

13
AT
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101. Consider the following relations for two 104. A problem is given to three students A, B

events E and F : and C, whose probabilities of solving the
A 33
1. P(EnF)2PE)+PF -1 problem independently are 23 and p
2. P(EuUF)=P(E)+ P{F)+P(ENnF respectively. If the probability that the
3. P(EUF)<P(E)+ PR problem can be solved is %, then what
Which of the above relations is/are is the value of p?
correct? 5
(v} —
@ <
(@) 1 only
(b) 3 only 2
@3
(¢ 1 and 3 only
(d 1,2 and 3 1
o =
3
102. If P(A|B) < P(A), then which one of the .
following is correct? 1
: @ 5

(a) P(B|A) < P(B)

(b) P(B|A)> P(B)

105. In a cricket match, a batsman hits a six

(c) P(B|A) = P(B) 8 times out of 60 balls he plays. What
is the probability that on a ball played
(@ P(B|A)> P(A) he does not hit a six?
2
(a) 3

103. When the measure of central tendency is
available in the form of mean, which one
of the following is the most reliable and b) —

accurate measure of variability? 15
(a) Range
@ =
(b) Mean deviation 15
(¢) Standard deviation
@
(d) Quartile deviation 15
DFGT-D-TMS/1A 37 [ BT,
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ey : o o T 31 (02) v ¥ fore Frafofas w fAdw : o o A @t (02) v % forg Prferaa w

fram Aifsm) foram $ifsm)
A woeEw  (fdvm) Wed 3x-4y+8=0 3R et fafira fowa & 60 ot 371 75 # @ wmw fbg o
4x-3y-1=0% ¥4 7 & 7§ ¥ ¥ = fag o §
106. fr=fafa Fot w far Hift 3 Ferenfifat it wrwan
= 15-20 4
1. xmyﬁmmmy=2x+2tl 20-25 5
25-30 11
2. yW xR wREUE x =S y+ L2 30-35 6
TR 3540 5
S Fe § @ A A T A/ B4 .
50-55 6
(@ %@ 1 55-60 4
60-65 2
(b) Fad 2
c) 1 3R 22H

108. wifeys (Hifegw) = 27
(d F@1AMAA2

(@ 35
(b) 38
107. Tr=fafiaa Fu= w = Hifsw :
c) 39
L. mﬁumngm
(d) 40

2. xR y % ww wAw: 3 34 §)

IFE HYA F A B/ A2 T R/ 100, W5 (318 % A7

(a) e 1 (@ 2727

(b) Fa 2 (b) 2773

(¢ 1 3R 23F (c) 2793

(d Jd1MAE2 (d) 2827
DFGT-D-TMS/1A 38
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Direction : Consider the following for the next Direction : Consider the following for the next
two (02) items that follow. two (02) items that follow.

The marks obtained by 60 students in a certain
Two regression lines are given as 3x-4y+8=0 subject out of 75 are given below :
and 4x-3y-1=0.

Marks Number of students
106. Consider the following statements : 15-20 4
| i Thesregression line of y on x is 20-25 5
y=—x+2.
% 25-30 11
2. The regression line of x on y is 30-35 6
3 1
e AR 35-40 5
Which of the above statements is/are 40-45 8
correct? 45-50 9
: 50-55 6
(a) 1 only
55-60 4
i 60-65 2
(c) Both 1 and 2
(d) Neither 1 nor 2 108. What is the median?
(a) 35
107. Consider the following statements :
3 (b) 38
1. The coefficient of correlations r is —.
4 (¢ 39
2. The means of x and y are 3 and 4
respectively. (d 40
Which of the above statements is/are
correct? 109. What is the mode?
(@) 1 only (@) 27-27
(b) 2 only (b) 2773
() Both 1 and 2 (c) 2793
(d) Neither 1 nor 2 (d) 2827
DFGT-D-TMS/1A 39 { P.T.O.
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110. a0 (15, 64] ¥ iafae gaquie! 1 areg = 112. 10 Y&t &1 WA 5-5 ) If 9 Jewr 0 4

?? { on e =g 3R 44 § ¥ w71 e g,
T W = B
(b) 383 oS
(c) 34
39-5
il (d) 44
(d) 40-3

113. 3R 2, 4, 8, 16, 32, 64, 128, 256, 512,
1024 %1 PR WA g B, @ Feafafaa & |

1 -H1 HE R
111. gEaRt
(a) 8<g<16
x, &% XxX+2 x+3 x+10
V&l x T wAis R, ¥ wged ¥ (b) 16<g<32
Frafafas % @ ¥9-a1/a9-3 ad /37
1. WYq > €gcs (c) 32<g<64
2. WIfeHe > A
(d) g>64
= fag 0 ez 1 wEm W wdh W g
(@) ¥ 1 114. 3R 60 3 x F TTHF A 48 B, @ x H
qH T4 27
(b) A< 2 (@) 32
(b) 36
(c) 1 3R 23
(c) 40
.{d} Fd1siRad2 (d) 44
DFGT-D-TMS/1A 40
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110. What is the mean of natural numbers 112. The mean of 10 observations is 5°'5.
contained in the interval [15, 64]? If each observation is multiplied by 4
and subtracted from 44, then what is

the new mean?

(@) 368

(@ 20
(b) 383 b
() 395 g
(d) 40-3 (d) 44

113. If g is the geometric mean of 2, 4, 8, 16,
111. For the set of numbers 32, 64, 128, 256, 512, 1024, then which
one of the following is correct?

x x x+2 x+3 x+10
(a) 8<g<16

where x is a natural number, which of

16 32
the following is/are correct? (b) <g<

1. Mean > Mode (c) 32<g<64

2. Median > Mean '
[d g>64

Select the correct answer using the code
given below.
114. If the harmonic mean of 60 and x is 48,
then what is the value of x?
(a) 1 only
(a) 32
(b) 2 only
(b) 36
(¢) Both 1 and 2 (© 40
(d) Neither 1 nor 2 (d 44

DFGT-D-TMS/1A 41 [ P.T.O.
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115. Y99 10 9 gAqUiish 1 A1eq e @1 87 118. @ w1 H =+ WM 2 B wdfwm
x2+x+n=0a531§la'lﬁﬁﬁﬁﬁ,ﬁ'ﬁfnelﬂ

5
(@ M n<q¥?
() 55 (@ 0
(c) 10 1
(b) -y
(d 105 ;
(c) 3
116, 3f? (d) 1
2
10 10
Y x =110 M Y xZ =1540
i=1 i=1 119. 3R A 3R B W A ggm () & &
?, o wEw =y R7 P(ATQ‘T]=%, P(Bwiﬁ);% 3R
@ 22 P(A|B)=%%,?hp(sm}ﬁsaaama?
(b) 33
@
) 44
9
(d 55 ®
© =+
. : 4
117. 3% 1, 3, 7 F WM & (3H H gEhH
Ty o) 3-si weard w e wh #1 o {d}al

&A1 F1 50w 9 A wg e wan ) 3@
T 7 WRED ® % 98 @@ 3 A w=y

A7 120. ¥ e e R fF wweh B uw dfe §
AoF w9 A @ I §) @ aw@ o
(@ 0 wifean ® fo6 2 @l 3 afere 78 wh wd?
b) = @ 35
3
8
; (b) s
o —
$ @
15
1
d@ = 13
8 @ 15
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115. What is the mean deviation of first 118. What is the probability that the roots

10 even natural numbers? of the equation x2 +x+n=0 are real,
where ne N and n <4?
(@ S
(@ O
(b) 55 1
0 o
(c) 10 :
@ 105 €@ 3
1
i
(d) 3
116. If

10

10 119. If A and B are two events such that
Y x; =110 and Y, x? =1540

7 3
i=1 i=1 Pmot A)=—, PmotB)=—  and
(not A) 10 (not B) 10
then what is the variance? P(A|B) = %, then what is P(B|A)
(@ 22 equal to?
11
(b) 33 @ 12
(c) 44 2.
(b) 14
(d) 55 1
c —
(c) 2
117. 3-digit numbers are formed using the (@) 1
digits 1, 3, 7 without repetition of digits. 2

A number is randomly selected. What

is the probability that the number is 120. Seven white balls and three black balls
divisible by 3? are randomly placed in a row. What is
the probability that no two black balls
(@ 0 are placed adjacently?
7
1 (@ —
& 15
® 3 .
(b) 15
© +
4 @ =
15
1 13
d) — d —
(d) 3 (d) 15
DFGT-D-TMS/1A 43 [RTO.
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : DFGT-D-TMS Test Booklet Series
Serial No.
1520141 TEST BOOKLET
MATHEMATICS
Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300

1.

2.

3.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

. This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and

English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

. You have to mark all your responses ONLY on the separate Answer Sheet provided.

See directions in the Answer Sheet.

. All items carry equal marks.
. Before you proceed to mark in the Answer Sheet the response to various items in the Test

Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty,

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(ii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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